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THI KẾT THÚC HỌC PHẦN 
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I. Thông tin chung 

Tên học phần:  Cấu Trúc Học 

Mã học phần:  72ENGL40383 Số tin chỉ: 3 

Mã nhóm lớp học phần:  72ENGL40383_01 

Hình thức thi: Trắc nghiệm kết hợp Tự luận Thời gian làm bài:  75 phút 

Thí sinh được tham khảo tài liệu: ☐ Có ☒ Không 

 

II. Các yêu cầu của đề thi nhằm đáp ứng CLO 

 

Ký hiệu 

CLO 
Nội dung CLO  

Hình thức 

đánh giá 

Trọng số 

CLO trong 

thành phần 

đánh giá 

(%) 

Câu hỏi 

thi số 

Điểm số 

tối đa 

Lấy dữ liệu đo 

lường mức đạt 

PLO/PI 

(1) (2) (3) (4) (5) (6) (7) 

CLO 1 

Vận dụng chính 

xác các khái niệm 

và quy tắc về cú 

pháp học vào việc 

giải thích các 

thành phần câu 

Trắc 

nghiệm/ 

Tự luận 

30% 

1-25 

(Phần 

1) 

2.5 PI 2.3 

CLO 2 

Phân biệt chính 

xác các thành 

phần cấu trúc câu 

Trắc 

nghiệm/ 

Tự luận 

30% 

1-5 

(Phần 

2) 

2.5 PI 6.2 

CLO 3 

Thực hiện việc 

phân tích thành 

phần câu một cách 

thành thục 

Trắc 

nghiệm/ 

Tự luận 
40% 

1-5 

(Phần 

3-4) 

5 PI 7.1 

 

 

III. Nội dung câu hỏi thi 

PHẦN TRẮC NGHIỆM  

Phần 1: (2.5 điểm/20 câu) (0.125 điểm/ câu) 

Q1: 

Which sentence has a subject complement?  



BM-003 

Trang 2 / 11 

A. The cake tastes delicious.  

B. The bird flew away.  

C. He kicked the ball.  

D. They painted the house. 

ANSWER: A 

Q2: 

Which sentence contains a prepositional phrase?  

A. The book is on the table. 

B. She smiled warmly. 

C. He sings beautifully. 

D. They danced gracefully. 

ANSWER: A 

Q3: 

Which sentence has a noun clause? 

A. I know that he is honest. 

B. The man who came yesterday is my uncle. 

C. If it rains, we will stay inside. 

D. She left after the movie ended. 

ANSWER: A  

Q4: 

Which sentence has a dependent clause? 

A. Because it was raining, we stayed home. 

B. The sun was shining, and the birds were singing. 

C. He ate dinner, then he went to bed. 

D. She read a book, and he watched TV. 

ANSWER: A  
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Q5: 

Which sentence contains an adverbial clause? 

A. She will succeed if she works hard. 

B. The flowers that bloomed were beautiful. 

C. He is a talented musician. 

D. They walked to the store. 

ANSWER: A 

Q6: 

What is the function of "yesterday" in the sentence "They arrived yesterday"? 

A. Adverbial 

B. Adjective 

C. Nominal 

D. Verbal 

ANSWER: A 

 Q7: 

Which type of sentence contains an independent clause and a dependent clause? 

A. Complex 

B. Simple 

C. Compound 

D. Compound-Complex 

ANSWER: A 

Q8: 

What kind of sentence is "Although it rained, we went for a walk"? 

A. Complex 

B. Simple 

C. Compound 

D. Compound-Complex 

ANSWER: A 

https://contribution.usercontent.google.com/download?c=CgxiYXJkX3N0b3JhZ2USQhIMcmVxdWVzdF9kYXRhGjIKMDAwMDYyNDU5ZjA2NGM1NDUwNjZjNDExMzlmMzg0ODVkN2RiMmM2Njc5OWFkNTI3Ng&filename=MULTIPLE+CHOICE.pdf&opi=103135050
https://contribution.usercontent.google.com/download?c=CgxiYXJkX3N0b3JhZ2USQhIMcmVxdWVzdF9kYXRhGjIKMDAwMDYyNDU5ZjA2NGM1NDUwNjZjNDExMzlmMzg0ODVkN2RiMmM2Njc5OWFkNTI3Ng&filename=MULTIPLE+CHOICE.pdf&opi=103135050
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Q9: 

Which sentence uses a reflexive pronoun for emphasis? 

A. He fixed the car himself. 

B. She hurt herself. 

C. They blamed themselves. 

D. I saw myself in the mirror. 

ANSWER: A 

Q10: 

Which sentence employs an anticipatory "it" as the subject?  

A. It is important to study hard.  

B. It is raining.  

C. It is a beautiful day.  

D. It is what it is.  

ANSWER: A 

Q11: 

Which sentence uses "like" as a subordinating conjunction? 

A. She talks like she knows everything. 

B. They are like brothers. 

C. He sings like a bird. 

D. It feels like silk. 

ANSWER: A 

Q12: 

Which sentence uses a gerund as the subject?  

A. Running is good exercise.  

B. He is running a marathon.  
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C. She likes to run in the morning.  

D. They are running late.  

ANSWER: A 

Q13: 

What is the function of "for my birthday" in the sentence, "He baked a cake for my 

birthday"? 

A. Modifier 

B. Complement of Non 

C. Adverbial phrase 

D. Noun 

ANSWER: A 

Q14: 

Identify the sentence with a prepositional phrase. 

A. We walked around the corner. 

B. The cat slept soundly. 

C. She spoke clearly. 

D. They are intelligent. 

ANSWER: A 

Q15: 

What type of sentence is the following: "Please hand me the book"? 

A. Imperative 

B. Exclamatory 

C. Interrogative 

D. Declarative 

ANSWER: A  

Q16: 

Which sentence uses a gerund phrase as the object of a preposition?  

A. He was accused of cheating on the test.  
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B. She is good at solving problems.  

C. They are interested in learning new things.  

D. We are looking forward to seeing you.  

ANSWER: A 

Q17: 

What type of sentence is "What a beautiful day!"? 

A. Exclamatory 

B. Imperative 

C. Interrogative 

D. Declarative 

ANSWER: A 

Q18: 

Which sentence uses a gerund phrase as the object of a preposition? 

A. She is afraid of flying in airplanes. 

B. He enjoys playing the guitar. 

C. They started writing the report. 

D. We finished cleaning the house. 

ANSWER: A  

Q19: 

By position the part “to live” in ‘To live is to be loved’ is a: 

A. verbal 

B. infinitive  

C. adverbial 

D. verbial 

ANSWER: A  

Q20: 

Which sentence uses "as" to introduce a clause of manner?  

A. Do as I say, not as I do.  
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B. As it was getting late, we decided to leave.  

C. He works as a teacher.  

D. As a child, she loved to read.  

ANSWER: A 

Phần 2: (2.5 điểm/5 câu) (0.5 điểm/ câu) 

What is each numbered space best replaced with? 

 

A. 1: NP3; 2: N2’; 3: PP 

B. 1: NP3; 2: AP; 3: NP’ 

C. 1: AP2; 2: AP1; 3: N’ 

D. 1: AP2; 2: NP’; 3: PP 

ANSWER: A 

 

A. 1: AP’; 2: PP 3: Av; 4: NP 

B. 1: AP’; 2: AvP; 3: AP; 4: N’ 

C. 1: AP’; 2: AP; 3: Adv; 4: NP 

D. 1: AP’; 2: NP; 3: AP; 4: N’   

ANSWER: A 
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A. 1: VP’; 2: AP; 3: A; 4: N’ 

B. 1: AP; 2: AP; ; 3: A; 4: NP 

C. 1: VP’; 2: PP’; ; 3: A; 4: NP 

D. 1: NP 2: AP; 3: A; 4: N’ 

ANSWER: A 

 

 

A. 1: S; 2: NP3; 3: VP2; 4: NP2 

B. 1: S; 2: VP2; 3: NP3; 4: N’ 

C. 1: S’; 2: N’; 3: VP; 4: AP 

D. 1: NP; 2: N’; 3: VP; 4: AdvP 

ANSWER: A 
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A. 1: S2; 2: VP; 3: Aux; 4: PN 

B. 1: S2; 2: AvP; Aux; 4: PN 

C. 1: S2; 2: AvP; 3: N’; 4: NP 

D. 1: S2; 2: NP; 3: NP; 4: N’ 

ANSWER: A 

 

PHẦN TỰ LUẬN  

Phần 1: (2.5 điểm/ 5 câu) (0.5 điểm/ câu) 

 

Determine the forms, functions and positions of the underlined word in each of the 

following sentences. 

Câu 1 (0.5 điểm): The girl sitting in the first row is my sister. 

Đáp án Câu 1: Form: Present Participle Phrase (PrestPP) - Function: Modifier (M) - 

 Position: Ajal (Adjectival) 

Câu 2 (0.5 điểm): He always takes my advice seriously. 

Đáp án Câu 2: Form: Noun Phrase (N) - Function: Direct Object/ Object (DO/O) - 

 Position: Nomial (Nal) 

Câu 3 (0.5 điểm): They are in a hurry. 

Đáp án Câu 3: Form: Prepositional Phase (PP) - Function: Subject Compliment (SC) - 

 Position: Ajal (Adjectival) 

Câu 4 (0.5 điểm): “What are you doing now?” was his first words. 

Đáp án Câu 4: Form: Noun Clause (NC) - Function: Subject (S) - Position: Nominal 

(Nal) 

Câu 5 (0.5 điểm): They considered John their leader. 

Đáp án Câu 5: Form: Noun Phrase (NP)  - Function: Object Compliment (OC) - 

Position: Nominal (Nal) 
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Phần 2: (2.5 điểm/ 5 câu) (0.5 điểm/ câu) 

 

The sentences below are ambiguous. Rewrite them in a way which makes their 

intended meaning clear and unambiguous. 

Câu 1 (0.5 điểm): She saw the bear with her binoculars. 

Đáp án Câu 1: Using her binoculars, she saw the bear/ She saw the bear that was 

carrying her binoculars. 

Câu 2 (0.5 điểm): The old men and women were taken to the park. 

Đáp án Câu 2: The old men and the old women were taken to the park./ The old men 

and the women were taken to the park. 

Câu 3 (0.5 điểm): They are moving sidewalks. 

Đáp án Câu 3: They are sidewalks that are moving./ They are people who are moving 

sidewalks. 

Câu 4 (0.5 điểm): The artist painted portraits of men with mustaches.  

Đáp án Câu 4: The artist painted portraits of men who had mustaches/ The artist 

painted portraits with mustaches. 

Câu 5 (0.5 điểm): The professor said on Monday he would give the exam. 

Đáp án Câu 5: The professor said he would give the exam on Monday./ On Monday, 

the professor said he would give the exam. 

 

 

ĐÁP ÁN PHẦN TỰ LUẬN VÀ THANG ĐIỂM 

 

Phần câu hỏi Nội dung đáp án Thang điểm Ghi chú 

I. Tự luận 5.0  

Phần 1  2.5  

Câu 1 Form: Present Participle Phrase 

(PrestPP) - Function: Modifier (M) - 

Position: Ajal (Adjectival) 

0.5  

Câu 2 Form: Noun Phrase (N) - Function: 

Direct Object/ Object (DO/O) - 

Position: Nomial (Nal) 

0.5  

Câu 3 Form: Prepositional Phase (PP) - 

Function: Subject Compliment (SC) - 

Position: Ajal (Adjectival) 

0.5  

Câu 4 Form: Noun Clause (NC) - Function: 

Subject (S) - Position: Nominal (Nal) 

0.5  
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Câu 5 Form: Noun Phrase (NP)  - Function: 

Object Compliment (OC) - Position: 

Nominal (Nal) 

0.5  

Phần 2    

Câu 1 Using her binoculars, she saw the 

bear/ She saw the bear that was 

carrying her binoculars. 

0.5  

Câu 2 The old men and the old women were 

taken to the park./ The old men and 

the women were taken to the park. 

0.5  

Câu 3 They are sidewalks that are moving./ 

They are people who are moving 

sidewalks. 

0.5  

Câu 4 The artist painted portraits of men 

who had mustaches/ The artist 

painted portraits with mustaches. 

0.5  

Câu 5 The professor said he would give the 

exam on Monday./ On Monday, the 

professor said he would give the 

exam. 

0.5  

 Điểm tổng 5.0  

 

  TP. Hồ Chí Minh, ngày 28 tháng 02 năm 2025 

 

 

P. Trưởng bộ môn  Giảng viên ra đề 

 

ThS. Cao Thị Xuân Tú ThS. Nguyễn Thanh Minh 

 

 

 

  


